Visualizing rotation map orbits

An orbit of R, with

a=1




Visualizing rotation map orbits

An orbit of R, with

a=1




Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

2

An orbit of R, with

a=1



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1

11 >



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1

11 >



Visualizing rotation map orbits

8
2

An orbit of R, with

a=1

11 >



Visualizing rotation map orbits

8 14
2

An orbit of R, with

a=1

11 >



Visualizing rotation map orbits

8 14
2

An orbit of R, with

a=1

11 >



Visualizing rotation map orbits

8 14
2

An orbit of R, with

a=1

16

11 >



Visualizing rotation map orbits

8 14
2

An orbit of R, with

a=1

16



Visualizing rotation map orbits

8 14
2

An orbit of R, with

a=1

16

17 11 5



Visualizing rotation map orbits

8 14
2

13
3 19
An orbit of R, with
0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

13
3 19
An orbit of R, with
0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

13
3 19
An orbit of R, with
0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

13
3 19
An orbit of R, with
22 0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

13
3 | | 19
2 An orbit of R, with 0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

13
3 | | 19
2 An orbit of R, with 0
a=1
16 6

17 11 5



Visualizing rotation map orbits

8 14
2 20

3 _ _ 19
2 An orbz clf lRa with 0
N 925

17 17 5



Visualizing rotation map orbits

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with

a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Visualizing rotation map orbits

1 11

An orbit of R, with
a=2m(y/5/3-1)




Self-similarity of rotation map itineraries

> Consider Ry: T — T with o = 27(+/5/3 — 1).
» Define an itinerary function 7: T — 2" by saying

1 if R(0) € (0, —)short

the nth digit of 7(6) is _
0 otherwise.

We'll call the starting digit of a sequence the Oth digit.
» (Caution: 7 is discontinuous at each point whose orbit hits 0.)
» Here are the first few digits of 7(0).
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